
 

 

Answer on Question #64597 –  Math – Calculus 

Question 

The expression I = 6t^3 + 2t^2 + 5t - 2 shows the relationship between current and 

time in seconds. How would you find the electric charge passing between 

 t = 2s and t = 5s.   

Solution 

𝑄 = ∫ 𝐼(𝑡)𝑑𝑡
5

2

= ∫ (6𝑡3 + 2𝑡2 + 5𝑡 − 2)𝑑𝑡 = (
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=
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4
(54 − 24) +

2

3
(53 − 23) +

5

2
(52 − 22) − 2(5 − 2) = 

=
3

2
(625 − 16) +

2

3
(125 − 8) +

5

2
(25 − 4) − 2 ∙ 3 = 

=
3

2
∙ 609 +

2

3
∙ 117 +

5

2
∙ 21 − 6 =

3 ∙ 609 + 5 ∙ 21

2
+ 2 ∙ 39 − 6 = 

=
1827+105

2
+ 78 − 6 =

1932

2
+ 78 − 6 = 966 + 78 − 6 = 1038. 

Answer:  1038. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer provided by https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

